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0 SUOTEraction

CDPS Maths Department Motto

Depth not speed: every pupil to be confident,
competent and numerically fluent. QP
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How many more fans did City have?

How many more tells us we need to SUBTRACT the. 9$SI’ underneath each other to
number of fans Rovers have from how many fans City has. subtract them. Don’t forget

At a football njatch there are 2942 Rovers fans and 9381 City fans,

We recommend using the column method to subtract numbers. H 4 q
This involves writing one number underneath the other. Z O:‘ er Wor: San
o Example: What is 73 - 27? A T P gisestf[ at mean
suptraction:
613 yse the language of place value to ensure Subtract Minus
+ 3 understanding. Deduct Less than How many
- 2 7 "We can't subtract seven from three, so we need to more?
4 6 exchange a ten for ten ones to give us 60 + 13 Take away Decrease How many
. ' Reduce
Example: What is 258 - 73? Difference are I/eft?
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second number is larger than the first it cannot be subtracted. o
- (& You need to exchange a digit from a higher column (which is to 'é -alf 8 2 187
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29‘12 to exchange a digit from a
- higher column when the

second number is larger
643 9 than the first.




